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salanijednovdrithen.nb

Intiil:= mat= {{1-¢llxpl, ~plx@l2}, {-p2+¢21, 1 -p2 x@22}};
vect = {el *MO1, €2 +M02};
res = Simplify[LinearSclve[mat, vect]]

ot 13- | -M02 €20l 9l2+MOLel (-1+p2@22)
ST AT 02 w22 v ol (0ll pz vlz ezl —p2ollezz)
MOZ (e2 -€e€2pleplly +M0lelp2 @21 }
L -p2022 -p1 (01l +p2 9l2 021 -~ p2 11 922)
S1 S1
ni24]:= dosad = {pl» (1-€el), p2- (1-€2), 912 51, 91150, @21 -> — , 922 > 1 - —};
s2 s2
novres = Simplify[res /. dosad]
W1l =novres[[1]];
e (MO02 352 (~-1+€l)e2+M01el (S1 (-1+€2) -S2¢€2) MOl Slel (-1+€2) -M02S2¢€2
Outidoj= « "
: Siel (-1+€2) -S2e€2 ! Slel (-1+€2) -S2e2
Wl -elxMOL
In{Z3):= Hl = Simplify[—-—w———-—«——-—— /. dosad]
ol
quysl = Simplify[W1 - H1]
b agi MOLISlel (-1+€2) -M028S2€2
B Slel (-1+e2) -82e2
(MO1 -M02Z) SZele2
out/34)=

S2e2+S1 (el -€ele2)

}



salanijednovdruhem.nb

In[137]:= mat = {{1-¢ll%xpl, -pl*x¢l2}, {-p2%¢21, 1 -p2%p22}};
vect = {€l *MO1l, €2 «*M02};
res = Simplify[LinearSolve[mat, vect]]

General::spelll : Possible spelling error: new symbol name "9Zl1" is similar to existing symbol "gl2".

General::spelll : Possible spelling error: new symbol name "el" is similar to existing symbol "pl".
General::spelll : Possible spelling error: new symbol name "e2" is similar to existing symbol "p2".

{ -M02 €2 pl 12 + MOl el (-1 +p2 922)
-1+02¢022+p1 (91l +p2 @12 @21 - p2 ll 22) '
MO2 (€2 -€2pl ¢ll) +MO1 el p2 21 }
1-p2¢22 -pl (911 +p2 912 21 - p2 11 22)

out[139]=

s1 s1
In[140]:= dosad = {pl - (1-€1), p2~ (1-€2), 9121, ¢11 -0, ¢21 -> = 02251 - -8-5},-

novres = Simplify[res /. dosad]
Wl = novres[[1]];

out [141]= {MOZ S2 (-1+€l) €2+M01el (S1 (-1+€2) -S2€2) MO1Slel (-1+€2) -MO2S2e€2 ]
Slel (-1+€2) -82€2 ! Slel (-1+€2) -S2e2
W1 - el+«MO1
In[143]:= Hl = Simplify[————-l-———— /. dosad]
P
gvysl = Simplify[W1l - H1]
_ MO1Slel (-1+e2)-M02S2e2
Oout[143)= Slel (-1+e2) —52e2
~ (MO1-MO02) S2ele2
Out[144]= =5 5781 (el-ele2)
In[149]:= vyr = FullSimplify[qvysl /. {MO1l » o T1%, M02 » o *T2%}]
82 (T1*-T2') ele2o
Outl149]= =5 5781 (el-ele)
Numerator r
In[159]:= [vyz]
€le2*82

out[159]= (T1*-T2%) o

Denominator[vyr]
In[158]:= BExpand
P [ €le2x8S2 ]
Out[158]= **S—l- ! S1

52 "el "Ts2ez




